Virginia High School League

Scholastic Bowl, 2002-03 season

District Competition, Match #32

These questions are for use in the Virginia High School League’s Scholastic Bowl competition at the District level. Shawn Pickrell, Adam Fine, Matt Weiner, Christopher Moretti and Phil Castagna are the authors of these questions.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a) Release of these questions to any entity not affiliated with the District competition or the schools that are members of the given District before all District champions have been announced is prohibited. This is meant to keep question security.

(b) Competitors may not discuss or otherwise reference these questions with other entities in the Commonwealth of Virginia that are associated in any way with the Scholastic Bowl competition before all District champions have been determined. This is also meant to keep question security.

(c) After that, these questions may be freely released to entities within the Commonwealth of Virginia. These questions may also be discussed or otherwise referenced between entities within the Commonwealth of Virginia. This is meant to allow the proliferation of these questions so that all schools in the Commonwealth of Virginia may have practice material for future Scholastic Bowl competitions, and therefore this practice is encouraged.

(d) These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means.
First period: 15 tossups
1.
THIS IS A COMPUTATION QUESTION. The top of an extendable ladder is resting 24 feet high on a wall.  The base of the ladder is 7 feet from the base of the wall.  The ladder is extended so that its top is at the same spot on the wall, but its base moves three feet farther from the wall.  For 10 points, by how much was the ladder extended?

ANSWER: 1 FOOT

2.
Founded in Norfolk in 1980 by Alex Pacheco and Ingrid Newkirk, it has come under fire for such as campaigns as a parody entitled “Got Beer?” and a billboard mocking Rudy Giuliani’s prostate cancer. For ten points, name this group, now under Congressional investigation for funding the terrorist Animal Liberation Front.

ANSWER: People for the Ethical Treatment of Animals

3.
He founded the American Authors’s Society to lobby for better treatment by film directors adapating literary source material. His favorite of his novels was The Moth, while his historical fiction includes Mignon and Past All Dishonor. For ten points, name this author of Mildred Pierce, Double Indemnity, and The Postman Always Rings Twice.

ANSWER: James Mallahan Cain

4.
The 1832 Supreme Court decision Worcester v Georgia guaranteed the rights of this Indian tribe which had established a capital at New Echota, Georgia. In the previous 40 years, this tribe, one of the “Five Civilized Tribes”, had adopted Western civilization and culture. For 10 points, what was this Indian tribe, whose chief Sequoyah developed an alphabet for his language?

ANSWER: CHEROKEEs

5.
Secreted by the epidermis, it can be found in the internal structures of some sponges, cnidarians, and annelids, in addition to arthropods.  For ten points, what glucosamine polysaccharide compound makes up the exoskeletons or shells of invertebrates such as crabs and insects?

ANSWER:  chitin (KAI-tin)

6.
For ten points, a cytologist studies what fundamental unit of life, consisting of a nucleus, cytoplasm, and a membrane?

ANSWER:  cell
7.
While shooting the video for this song inside a car, the lead singer fainted due to a carbon monoxide leak. After crashing a party, the narrator is made ill by a “Hitler hairdo” and urges the title group to arrest a man for buzzing like a fridge and talking in maths. For a minute, the singer loses himself after learning what one gets for messing with the title group. For ten points, name this song from the OK Computer album by Radiohead.
ANSWER: “Karma Police”

8.    This word comes from the Swedish words for 'bread-and-butter sandwich table'. For 10 points, what is this word that refers to any medley or collection of miscellany, especially a large food buffet?

ANSWER: SMORGASBORD
9.
Edward Everett, a well-regarded speaker, gave a two-hour speech that has long since been forgotten. After Everett’s speech, Abraham Lincoln delivered a two-minute speech that has not been forgotten. For 10 points, what was this speech Lincoln delivered in November 1863 at the dedication of a battlefield cemetery in Pennsylvania?

ANSWER: Gettysburg Address
10.
In 1998, he won re-election without opposition for a five-year term. Although he has suppressed political freedom in his country during his 43-year reign, he was able to increase literacy rates and establish a national healthcare system. However, his economic achievements were soured when the Soviet Union collapsed and was no longer able to subsidize his government. For 10 points, name this man who has outlasted every President since Eisenhower and is still President of Cuba.
ANSWER: Fidel Castro 
11.
In 930 CE, Karmatian fanatics stole it and held it for ransom for twenty years.  Supposedly given to Adam after the Fall from Paradise, it was originally white, but the sins of pilgrims changed its color.  For ten points, what possibly meteorite sacred rock is built into the eastern wall of the Kaaba in Mecca?

ANSWER:  Black Stone of Mecca (or Al-hajar al-aswad) (prompt on Kaaba)

12.
Fezziwig’s ball, a dead partner named Marley, and the Cratchit family’s goose dinner are all featured in, for ten points, what holiday story by Charles Dickens, centered on Ebenezer Scrooge?

ANSWER:  A Christmas Carol
13.
He uses traditional tales in a novel about Sleeping Beauty awaking in contemporary Ukraine, Enchantment, and in ghost stories such as Treasure Box and Homebody. He is more known for a series which won him both the Hugo and Nebula awards in consecutive years. For ten points, name this author of Children of the Mind, Xenocide, Speaker for the Dead, and Ender’s Game.

ANSWER: Orson Scott Card
14.
He was given military training in Japan and participated in the 1911 revolution against the Manchus. After the 1925 death of Sun Yat-sen, he assumed virtual power, and in 1927, he initiated a 22-year-long civil war against the Chinese Communists, eventually being driven from the Chinese mainland onto Taiwan. For 10 points, who is this man, the head of the Kuomingtang (KWAW-ming-tang) and first President of the Republic of China?

ANSWER: Chiang Kai-shek

15.
Horizontal airflow dominates this region, located approximately between ten and thirty miles above sea level, and separated on its lower boundary by the tropopause.  For ten points, what is this second-lowest layer of the Earth’s atmosphere?

ANSWER:  stratosphere
Second period: 10 directed questions for each team

Questions with an A after their number will be read to the team that selects set A of questions; questions with a B after their number will be read to the team that selects set B of questions.

1A.
What is the chemical formula for sodium oxide?

ANSWER: Na2O (N-A-2-O)

1B.
One of the few English words derived from Polynesian languages is what five letter word which describes something forbidden due to cultural or social norms?

ANSWER: TABOO
2A.
Name the man who filled the Senate seat vacated by Hubert Humphrey in 1964 who recently failed in his attempt to return to the Senate from Minnesota, decades after serving Vice-President under Jimmy Carter.

ANSWER: Walter Frederick Mondale
2B.
Born in present-day Yugoslavia, he became the emperor after killing Carinus at the Morava River. Name this western emperor who joined with Maximian to divide the Roman Empire into a tetrarchy.

ANSWER: Gaius Aurelius Valerius Diocletianus

3A.
In order to punish or correct heretics or church law violators, Popes often used what power, the formal expulsion of a member from the Church?

ANSWER:  excommunication
3B.
THIS IS A COMPUTATION QUESTION. What is the sum of the floor of five-thirds and the ceiling of five-thirds?

ANSWER: 3 (1 + 2) 

4A.
THIS IS A COMPUTATION QUESTION. F of x equals x-squared plus three (f(x) = x2 + 3).  G of x equals 8 minus x (g(x) = 8 – x).  What is the value of f of g of 2 ( f(g(2)) )?

ANSWER: 39 

4B.
During RNA transcription, which pyrimidine nitrogen base pairs with adenine, thus playing a similar role to that of thymine in DNA replication?

ANSWER:  uracil
5A.
In French, regular verbs whose infinitives end in –ir have their third person singular forms end in what letter?

ANSWER: T (il dort)

5B.
What most famous waltz by Johann Strauss Jr. has a major European river as its subject and is featured in “2001:  A Space Odyssey”?

ANSWER:  “The Beautiful Blue Danube” Waltz

6A.
What is the two-letter Internet country code for Germany?

ANSWER: (dot) DE (spelled out)

6B.
Spell the plural form of the noun “axis” that has the same number of letters as the singular.

ANSWER: AXES

7A.
Name the author of The Neurotic Constitution who broke with Freud’s view that sexual trauma is the main inhibitor of improvement by positing the “inferiority complex.”

ANSWER: Alfred Adler

7B.
It began with the reforms of Alexander Dubcek and led to the elucidation of the Brezhnev Doctrine to justify its suppression. Name this 1968 uprising against Soviet control by Czechoslovakian activists.

ANSWER: Prague Spring
8A.
Name the theatrical British rock band led by Freddie Mercury.

ANSWER: Queen
8B.
THIS IS A COMPUTATION QUESTION. Two standard dice are tossed.  What is the probability that the product of the two faces showing is less than or equal to the sum of the faces showing?

ANSWER: 1/3 (the chance of a one showing)

9A.
In proving a theorem, other important deductions can be made with a trivial step or two. What name is given to these “sub-theorems?”

ANSWER: COROLLARY 

9B.
Velocity is one of the two factors in momentum. What is the other factor in determining momentum?

ANSWER: MASS
10A.
His novels include The Ides of March and The Bridge of San Luis Rey, while he also wrote such dramas as “The Skin of Our Teeth.” Name this author of “The Matchmaker.”

ANSWER: Thornton Niven WILDER

10B. 
Queen Pasiphae of Crete mated with a white bull, giving birth to what monster that resided in a labyrinth designed by Daedalus?


ANSWER:  Minotaur

Third period: 15 tossups
1.
After arriving at Ezieza airport, one might visit the world’s widest city street, the Nueve de Julio, which intersects with Corrientes Avenue at a two hundred foot obelisk. Also home to the Colón Theatre and Puerto Madero, it sits south of the Paraná’s mouth and on the west of the Rio de la Plata. For ten points, name the “birthplace of the tango” and capital of Argentina.

ANSWER: Buenos Aires
2.
Born in 1737, Carl Maria von Weber (VAY-ber) was one of his students, and he composed the “Missa Hispanica” mass as well as a 1771 “Requiem” that influenced Mozart’s version.  For ten points, what musician with first name Michael was overshadowed by his older brother Franz Joseph, the composer of 107 symphonies?

ANSWER:  Michael Haydn
3.
He was named the supreme religious leader of his country’s Shi’ite (SHEE-ite) majority in the 1950s. After being expelled in 1964, he took refuge in neighboring Iraq, until being expelled by Saddam Hussein in 1978. He lived in Paris and when the Islamic Revolution began, returned in triumph and became supreme leader of his country until his 1989 death. For 10 points, who was this Iranian leader?

ANSWER: Ayatollah Ruhollah Khomeini
4.
In this book, an impressionable pair of twins is commonly referred to as a pair, Samneric.  Simon is one of the few good boys, but he is murdered, as is Piggy when Roger drops a boulder on him.  For ten points, what William Golding novel centers on the battle between oldest boys Jack and Ralph on an island?

ANSWER:  Lord of the Flies
5.
A mare’s tail is a special form of, for ten points, what type of high cloud that often signals the arrival of a warm front and has a long, narrow fibrous appearance?

ANSWER:  cirrus cloud

6.
Mollusca, Arthropoda, and Chordata are three examples of, for ten points, which most inclusive taxonomic subdivision of the Animal Kingdom?

ANSWER:  phylum
7.
It powers the Genissiat Dam after rising from the Dammastock Glacier in Valais, Switzerland. Strengthened by the Durance, Ain, and Arve tributaries, it eventually forms the Camargue Delta by splitting into “Grand” and “Petit” branches at Arles. For ten points, name this river which flows through Lake Geneva and Lyon, receiving the drainage basin for southeastern France.

ANSWER: Rhône River

8.
He took up concert voice training, and started the Volta Cinema Theatre in 1909, but he is best known for writing novels, such as one that was originally called Work in Progress but became Finnegans Wake.  For ten points, who was this Irish author of A Portrait of the Artist As a Young Man and Ulysses?

ANSWER:  James Joyce
9.
Glucose and galactose form, for 10 points, what disaccharide that is found in dairy products?

ANSWER: LACTOSE
10.
He cashed in on connections made playing minor roles in Three Men and a Baby, Married to the Mob, and Who’s the Man? to write the script for the Dan Akroyd/Daniel Stern comedy Celtic Pride. A Boston native, he first broke into television as a regular on MTV’s Remote Control. For ten points, name this Saturday Night Live performer who parlayed his Joe Blow character into a disastrous two-year stint as Norm McDonald’s successor on “Weekend Update.”

ANSWER: Colin Quinn
11.
While in Florence in 1503, for ten points, which artist completed the Battle of Anghiari mural for the town hall as well as the paintings Leda and the Swan and Mona Lisa?

ANSWER:  Leonardo da Vinci

12.
For ten points, what botanist developed over 300 by-products for the sweet potato and the peanut while working at the Tuskegee Institute?

ANSWER:  George Washington Carver
13.
After her husband is paralyzed from the hips down while fighting in World War I, she has a brief affair with Michaelis, and then a longer one with the gamekeeper of Wragby Hall, Oliver Mellors.  For ten points, who is this title character that takes lovers in a 1928 novel by D.H. Lawrence?

ANSWER:  Lady Constance Chatterley (accept Connie)

14.
It is equal to the reciproacal of one minus the marginal propensity to consume, and is thus inversely related to the marginal propensity to save. It exists because the loaning of money creates new wealth. For ten points, name this value which determines the ratio of GDP change to change in spending.

ANSWER: money multiplier [accept GDP multiplier; accept income multiplier]

15.
THIS IS A COMPUTATION QUESTION. A cooler has enough room for an entire family’s drinks.  If 1 less than half the family-members put all of their drinks in the cooler, there are 6 drinks in the cooler.  If the entire family puts half of their drinks in the cooler there are 9 drinks in the cooler.  If every family member has the same number of drinks, for 10 points, how many people are in the family?

ANSWER: 6
SPARE QUESTIONS (In the second period, try to replace the question discarded with the a spare question in that subject area – i.e. science for science, social studies for social studies, etc.) Be sure to cross out the questions if/as they are used.

1.
One of its lead characters invented Blitzball and organized the last Winter Carnival. The other is jealous of his Devon School classmate and commits a rash act exposed by the presence of Edward Lepellier and the relentless questions of Brinker Hadley. For ten points, name this story about Gene and Finny by John Knowles.

ANSWER: A Separate Peace

2.
THIS IS A COMPUTATION QUESTION. If a cold substance and a very cold substance are mixed at a 9:1 ratio, the resulting temperature is 117 Kelvin.  If the ratio is reduced to 2:1, the resulting temperature is 96 Kelvin.  For 10 points, what is the cold substance’s initial temperature?

ANSWER: 126 Kelvin
3.
For ten points, name the Nixon appointee who, in 1986, succeeded Warren Burger as Chief Justice of the Supreme Court.

ANSWER: William Hubbs Rehnquist

4.
According to Bronsted, this type of substance is a proton donor. For 10 points, what is the name of a substance which increases the hydronium ion concentration in water and has a pH below 7?

ANSWER: ACID
5.
In high school, she was a Goldwater Girl, although while at Wellesley and Yale Law School, her views began to change. In 1993, the courts ruled her a de facto government employee in her status as chairman of the Task Force on National Health Care, firmly establishing her presence as a conservative bogeyman. In 1997, she wrote her book, “It Takes a Village”, and in 2000, she decided to enter the US Senate, defeating US Representative Rick Lazio. For 10 points, who is this Senator from New York?
ANSWER: Hillary Rodham Clinton
All questions © 2002 by the question writers. Unauthorized use, as described on the first page of this document, is prohibited.


